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Section 1
Choose the best answers.

1. According to the reporter, the protesters

LI A, have been using different ways to protest.
1 B. think the factory is good for the economy
1 C. goonTV and radio to make their protests heard

2. According to the reporter, what is the main problem with the factory?

L1 A. People in the factory will have breathing problems.
1 B. Itcould cause pollution.
1 C. The protestors will lose a lot of money.

3. According to the factory owner, what is the main benefit of the factory?

L1 A. It provides some of the essential services to the community.
L1 B. Ithas provided job opportunities for many young school leavers.
[0 C. Itcould promote economic growth

4. Which of the following is TRUE about the reporter?
She presents a balanced report

L0 A. but shows more sympathy for the protesters
[J B. butdoesn’t think the protesters are doing the right things
[J C. anddoes not favour either the protesters or the factory owner

5. What do you think the reporter will talk about next?

L1 A.  The further reasons why the protesters are there
[0 B. The actions that the protesters have carried out
[ C. The actions that the protesters will carry out
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Section 2
Choose the best answers.

1. From statements A — F below:
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A The factory will give off sulphur dioxide.
B. The environment will be in trouble if the factory opens.
C. The water in the river has been tested.
D. The factory has been tested properly.
E. The factory is a health risk.
F. Man-made things may be in danger.
Choose:

i)  The man’s main point

i)  The woman’s main point

iii) The factory owner’s main point

Answer:
Answer:

Answer:

2. Match the sentences with the way people say them in the recording.
Write the letter of the answer in the spaces provided.

Sentences Tones
I) “This is totally unacceptable!” )
A. begging
ii) “We are going to be here for a long time B. warning
if this factory goes ahead and opens!” C. questioning
D. surprised
iii) “Stop this factory opening!” E. disapproval

Answer: i) i)

i)

3. What do you think the factory owner will say next?

o A
O B
0 c

How dangerous gases can improve the quality of people’s lives
How the factory will contribute to the economy
How acid rain can improve the environment
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Section 3
Choose the best answers.

1. Match the following sentences to the way Lisa and Wayne say them. Write the
letter of the answer in the spaces provided. You can use the letters more than once.

Sentences Intonation

i) Lisa: “However, there is no definite
evidence that the gases from the A. Statement
factory are so bad

i) Wayne : “You’re sure about that” B. Question
iii) Wayne : “What”

C. Surprise
iv) “It’s true”

Answer: ) i) i) iv)
2. Lisa says that power stations cause air pollution. Which of the following is

Wayne’s main point in response to it?

L1 A. We can save energy by turning off unused lights.
1 B. We can take little steps to stop air pollution.
1 C. We can use public transportation to go to work.

3. When the recording continues, Wayne will talk about the ways to reduce

0 A. the number of factories
[0 B. airpollution as much as we can
[0 C. sulphur dioxide produced by volcanoes



